provi ded by
manabadi . com
manabadi . co.in

Key belongs to Booklet series "A"

060C-02

SECTION - A
Analytical Ability
A% SogPcs

Questions : 75 Marks ;: 75

Pdyee 175

Sty eat 75

(D Data Sufficiency (Marks : 2}
sgro¥ éwgéé

Note :

In questions numbered 1 to 20, a question is followed by data in the form of two
statements labelled as T and II. You must decide whether the data given in the
staternents are sufficient to answer the questions. Using the data make an
appropriate choice from (1) to (4) as per the foliowing guidelines :

(a} Mark choice (1) if the statement [ alone is sufficient to answet the gquestion.
{b) Mark choice (2} if the statement 11 alone is sufficient to answer the guestion.

(c) Mark choice (3) if both the statements I and 1I are sufficient to answer the
question but neither statement alone is sufficient.

{d) Mark choice (4) if both the statements T and I together are not sufficient to
answer the question and additional data is required.

1 1908 20 $8& 3T 98 BHS'E w8 ), oo (8ol LI ) Hike o

Dotk [HHSres SEOFOTT ANgRE0w. FU® SgroTly aHIrion GRS
Bidren [HE% el oS Dorgdre ol Bo 3 W
R)g%oav&). &1 Qgﬁéw&‘o Bod éuvgcﬁd,?é Lo Eeen &LSErhcD (1) wod (4)
LB% BB wand 2aran dobd Daod

@ Phd Shrorio ol FEHNo I S8 Soghond b wEr
M &goiﬁoa.

b) [H% Sdrgdo adyold [Hdnsco It B $ad écrvge“_g&oo»é by marew
2y (ﬁ)goiﬁo&

© DS Srerdo zTyotd Pddares 1, 1L Lol Horgdion wotsdt
2 w8 Yo dogho s¥E D zaran (3) M KeBodod.

BH® Bhrgvo a{.i)ocﬁ.a&) disarer I, I ¥t Ewge ‘é)mgéo =¥
w55 Seroto eXdsond b aarw (4) M HoBoWod.
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060C-02 _
ANSWERS [A]

What iy the average mark of 10 students ?

58 dwol: Argdhe Sridn Lroy, Sy

1. The average mark of 9 of them is 60.
woehSt D oD St &rd, 60. 4’
The marks ohtained by one of them is 32,
sothd® 2,588 52 dord ey S 0w,

5 oo s 6 ) _
If A is the mume o g J then what is the value of x ?

L 22 |_ 3 0 -! é o N s )
A ML‘»‘-‘«’g' y 4 (POWS, x(imézrwmo.wos,.

L A s not a symmetric matrix. 2
A o8 TRG S B8 s,

1l Ais asingular matrix,

A ol g & |SE.

What ts the volume of the cone ?
B0 BoiHtirm o !
. The height of the cone is 10 cm.
Bk b 10 Do,,
The area of its base is 126 sq. cn.
Pl e and) FTogo 126 £5.320.20.

What are the values of the real numbers a and b 7
b Hopgen a oy b G, Henden oD ?
Zisarootofxa®-b=0
£ =h =0 a8y e ¥ furos 2
- - A ’_.
Z2isatootofa®—~2¥=10

at -2 =0 w8y, o hrvo 2

What are the yvalues of the real numbers a and b 7
s dopges a Ak b o) Jenden D7
I. a:b=7:3, b=0
. 2a:b=6:11,a>0
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Is the positive integer a divisible by 42 ?
028, &% Srgrodo ¢ grRodwidooe ?
L « is not divisible by 7.
7 3 a erhoBacd.
a is divisible by 21.
21 F a erhodudidiud.

Is (logu.,x)2 = log, v 7

(lc»gmx)2 = log,y* eHdome ?
. x=v=10
I 2sy?

What is the area of the triangle formed by joining the points A, Band C ?
A, B Hbabh C DodHod Sodm Srdrod |S2bao @nE), Frego Scd ?
L A=(2,5,B=(3.2)
II. A, BandC lie on a straight live.
A, B 0o C o8 H6¢0s sodram.

If x, y and n are positive integers, 1s 1° + y? divisible by 2 ?
x, ¥y 280 n oy ¥ @vg”os"cpcmé‘, 2 B 3"+ v erfiodadisom ?
) : 5 ¥

L x=21
I v=1001

Isab=c¢d?
ab=cd vHdow ?

i.  a%ofcis equal o b% of d.
¢ & amrdo, d S° b aarld Dhrmdo,

h% of c is equal to d% of a.
c &8 bardo, a & d el Sirdo.

4




provi ded by
manabadi . com
manabadi . co.in

060C-02

11. Is the positive integer v odd ?

v

P Ey8 rgroso x 2 dogrg ?
L Siseven.

x2 50 dope.

4ris even.

4v BB Dowg.

What is the unit digit of the intcger x 7
Srgrod Doag x Sy el o 28 ?
. Theunitdigitof x*is 1.

xt @y w8 200 1,
a R
The unit digit of ¥¥ is 2.

xSy 288 g0 2.
“ Q@

What is the valveofa+~b+c+d "7
a+b+ct+dE@usy Dexd Qo ?
1. 3a+5b+7c-06d=24
iI. a-h-3¢c+10d=16

What is the value of sin 6 ?

r

sin 8 oo woE !

I. tan0+cotti=3 Lr

M. {cosec B + cat B) (vosec B —cot By = |

How Jong wilt 200 men take to teap the harvest of a ficld of area 2.4 km?* 7
24 W58 8., Fruge flo o I dobds gFohmas 200 fod Hlalve: Jod

sees B oirds ?

L 100) men will reap the harvesl of a field of area 1 km? in 6 weeks 7 j
1mm@ébgm%mwgﬁm%émmum@m@m@usrwg§§a

200 women will reap the harvest of a field of area 1.2 km? in 6 wecks.

12&%@&3§W%0&@goﬁa&MQMMm&§wémW§§§a

5
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Isxtex?

X < x wHehace ?

. xisareal number. 2_
x 2.8 R0 dowg.

II.  xisaninteger.
x 28 Yrgeodo,

Which is the largest number among x, y and z ?
Xy oo z o 08 Ko Sopg 7

I 12x = z2
I x:v:z=3:7:6

Isx=y?
x=y spshooe ?
L. x%ofy is equal to y% of x.
y &f x o, x & y o8 Siedo.

I xis20% of z.
z &° 20 % & x H&rdo.

What is the slope of the straight line ?
@ D80 M) aren Jod 7

1. The straight line passes through the origin and the point (3, 2).
© J8¥ T dwro Doty Loak (3.2) Dois) howe Sdod.

The straight line passes through (3, 3).
& 8¢ B (3, 3) o 08,

Is the set A equal to the set B 7
el A, DB B 8 Dboeddr 7
L AmB=A

. n(A)=n(B)
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{lify Probiem $Solving (Marks : 358)
ééeé‘g eSS

(a) Sequence and Series (Marks : 25)

Note : In cach of the questions numbered 21 to 35 a sequence of numbers or letters that
follow a definite pattern is given. Each question has a blank space. This has to be
filled by the correct answer from the four given options to complete the sequsnce
without breaking the pattern.

21 208 35 HBH Jowd de P8 [KHSE AR aid Sopgw MR, ¢foes M
¥ | Slagivand Jobird) S, (98 PHS%r o8 o alyd e
aa{)‘:,s‘u D08 X0 wowd aarendy o 5, k(B QRS oo Soow
Iroowd.

50,635, .... 290,325

(y 75 2 95 A 145

(25, 1), (23, 2). (20, 4), ..., (11, 16)
(1 (16, 4) (2) (16,6) \1»3{ {4y (16. 10

L5l 42 .2
119,122,14?‘163..-.

W18 37 20 @3 17 4 24

The value of the 13" term in the series 1, [ +2, 14243, 1 +2+3+4, ...
LI+42,1+2+3,1+2+3+4, .. @3S 13 % 280 an¥y, Dewd

(ay 97 N &l 3) 89 @) 85

ADILP, ...
(1} X ¢3’Y (3) Z

DFIK, GILN, JLOQ, ...
(1) MORP (2} MPRO \,@( MORT

SESSE TR S SO
(1) 12111 w1211 @3) 11011

1 1296
@ 7 s

7
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29. PALE:LEAP:: . : SHOP
(1) SOAP (2} PSOH M POSH {4) SAOP

Professor : Lecture : : Doctor :
S ﬁéa‘gb Bk
{1} Hospital Disease

;?:55'?’@ D"griw

M Treatment { Patient
T8y 50

6. 15,35, 77,

Gy 141 (2) 142 uédf' 143

CEGK. EGKM. , KMQS.
(1) GIKM 2T’ GKMQ (3) GLMQ 4} GMQS

15, 24, 35, 48, 63, 99

0 72 21 80

1R, 50. 98, 338
{Jy 121 2) 169

. 130

40 @) 50 AT 68

Note : Inquestions 36 to 45 pick the odd thing out.
Sridd r 36 %2003 45 D85 Ko [PHod® 8 Sedd difodod.

m.*ﬁllz (2) 35 (3) 77 @ 15

37, (1) (14,3, 4) (2) (26.4.6) (3) (37.5,7) \H’{' (70,8 9)

8

060C-02
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38. (1) wﬁ’ HEART (4) EAR
Lod D

w2

4) ol

(4) Pond

oD
4) 961

{4) NPSW

P

Turban Helmet \(41/ Veil
deord -?6_@‘;.6@3’)33 Resotd (oo Q‘Dééén)

{b) Data Analysis (Marks : 10)

Note : Study the following Pie diagram carefully and answer the questions 46 to 30,
: Salaries
: Canteen
. Medical expenses

: Insurance & Social Security
. Miscellaneous

The above diagram shows the heads of expenditure under various categories in percentages

in a budget of Rs. 2,880 lakhs of an industry.
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0 £8% Mo k;-’:'é;'@éa 2amen

e 238 & AN Sop I

fHow much money. in takhs of rupecs, 1s earnarked towards the salaries for the emptoyees ?
&&igiho dero Bod od G, v Srdrones’, Barovotdot ?

\u( 1152 (2) 1252

{3 1100 (4 1052

How much amount, in lakhs of rupees. is saved if misceilancous allocation is not utilised
and 10% of the canteen budget is over spent 7

add 2 o8 Swrawotd dund addrfodam, sogodd 3 Sironud;
L0 INT sS¥%om sg:-d;g Dando aBﬁéé&:é), o f?l‘ém&-, ois Srerobe:
sscmgoé ?

(1) 1972 \/z‘;’ 187.2

(3) 2736 @) 2076

It the insurance premiums during the year amount 1o 15% of the insuranee and social
security budget. then how much money, in lakhs of tupees, is left for speiding on social
security 7

E08 DHr Lbak: ol TEm SdravoPSt, & e R
BPoyzs 15% wound, ool BBoE wily Foherns Jud . L Srdrabed?,
e Sotwod ?
108 (21 720
i4) 28K

10
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49,

T 936

Note

ot

If the total budget is Rs. §640 lakhs instead of Rs. 2.8%0 Jakhs, then how much amount will
be increased on canteen budget, in fakbs of rupecs ?

o 288 Ferowody 2,880 ofe Srarabod whom §,640 ofw
sowd, ?\035 23E $oi Jud dauny, DEO trarohed® Bidod ?

764 2 1152
1296 \,(*’T' K64

From the total budget, il the canteen and i insurance & social security heads are rcduced by
5% and 10% respectively, then what saving could be achieved. in lakhs of mpees ?

Ao w@L S S “50835 L0a%: 208 Dbr Lol Jruipd YEs e Laod Ss&e
2 10% 88%, Jod Tk c?

et

i}
&)

fyds, oo Sraranedt, so SoHee

é
ka] 28.8
() 432

5% Sdads

i3y 576

Study the following table carefully and answer the questions 31 1o 55 ;
51 Hol 35 R Ko

|Bo2 HEEL erigne wégo&:éo s,
Shrorae

el Zratod.

|<\\ Year

Party

wc«z‘;ézdo

.

&g

40 20

10 20 30

This table shows the number of elected members from various parties in a State Aascnibly.
& L%, 2 Ty w0DE’ DG Ffo ol SN0 RO bopgin Burod.

What percentage of seats did party Y getin 19907
1990 &, a8 Y Q08 T do Farels GunbFol 7

70 v&f 64 (3) 68

What percentage of growth did the party A gain in 1995 over the previous eleciion )

I ¥ SuB. 1995 & 3‘*{5 A Jo# T30 BB o Dod ¢

) 62
Luf’“
{1y 40

NS @) 46

i

42

(2)
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060C-02

Which of the two parties could join to form a government in 1995 if Y and Z arc opposed
to cach other ?

Y 0ol Z er $80380 $g8T0800E 08, 1995 &° [Hehergdy Sovyts BubarQs
o Dotk fen ud doRy ?

() YandX () ZandA (3) ZandX WA~ Y and A

How many more seats did the party A get over the party B in all the elections put
together ?

¥ ©NED $BL, 18 B 508 G A M) FIre RKopd Hewhod ?
O 76 N~ 3) 40 (4) 65

In the vear 1975, what percentage of seats did the party B get with respect to party Y ?
1975 % 20H$YE0S" Y © HUD DS’ B % SO by méo Sok

1) 65 @) 525 (3) 6 wt! 625

Coding and Decoding Problems (Marks : 10)
Dircctions for questions 56 to 65 :

The questions 56 to 65 are to be answered using the coding and decoding of the letlers in
the English Alphabet as given below :

The ™ tetter is coded as {r + 1)V letter if r is odd and as (r —=1)'® letter if r is even. In
decoding, the inverse process is followed.

56 oow 65 VEE Me LE;’J%;})& Hoeeiten

56 Lol 65 2% do [PHo®, ol vifive &0 eitive 3ol Lo
G-8"30h %o GIH% 2 dd ASEWT SHEPNOE, SIrEIre |FTrob.

- T Sowsg Youd, r-H w50 (r+ 1) - S egdom §°8 Sord.
r- 20 Dogg wand, r- H 9Fov (1~ 1) - ® vgsorr §'8 Dokrd.
&6-530h & 63 DSt égaﬁ) araSoord.

What is the code letter for T ?
TS 58 wowd ?
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57. Which letter is coded as J ?
o @S J e G Dodedon ?

() H N

3) K 4 L

What is the code word for QUALITY ?

QUALITY 8 &8 %50 8 ?

(1) RVBKIUX (2) RVBKIUZ
w27 RVBKISZ () RVBKIUZ

Which word is coded as FWOKBMS ?
& s&%o FWOKBMS m 8§ Tovadod ?

{1y EXPLOIT (2) EXPLORE
(3) EXPLODE w’f EXPLANT

Which word is coded as CPNJMP ?
o %20 CPNIMP e 578 Saedod ?

Wi DOMING (2) DOLINO
(3) DOMAIN (4) DOLMEN

What is the code word for HOMOGENEQUS ?
HOMOGENEQOUS 8 83 S0 08 ?

(1) GPNPFMFPVT w2 GENPHEMFEPVT
(3) GPNPHFNFPVT (4) GPNPHFMFQVT

What is the code word for GREGORY ?

GREGORY & £°6 S0 28 ?

(1} HQFHPSZ (2) HPEHPQZ
WS TIQFHPQZ (4) HQPHPQX

Which word is coded as OQPCIHZ ?

o Ho OQPCIHZ r §°8 Jota&od 7

(1) PROVERB {2) PRODUCT
(3) PRODUCE “f PRODIGY
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What is the code word for ENIGMA ?
ENIGMA & 5°8 Hdc 06 ?

(1) EMIGNB Wi FMIHNB
(3) FMJHLB (4) FMHGNE

Which word is coded as INOPTF ?
2 %50 INOPTF e 8°8 Jadadod 7

(1) IMPURE 2) IMMUNE
(3} IMPORT AT IMPOSE

Date, Time & Arrangement Problems (Marks : 10)

If a month in an year starts with Monday.. then the date of the fourth day after the second
Saturday in that month, will be

a8 SodEbos® »¥ Bo Shrdod Rudoond, v Bos® Jo& Klarde dumed i)y
ool 8 Sin¥, 8B

() 16 v @) 18 @ 19

1f 9 May 2008 was Friday, then what day was February 14" of the same year 7
2008 9.5 86 B|Sarto wand, 6B BodEySo HE0 14 5 B vy K

@ Thursday  (2) Monday (3) Friday (4) Wednesday
Ko e o EVedele W do

The ages of a son and his tather were in the ratio 2 : 3 seventeen years ago. If the present
age of the son is 35, then the present age of the father in years, i$

17 Sokdyoro Soss o Bkl wok @8 S03 © Somes 2 0 5 B
Gamyow. [Rpdo F Labiy 35 HobdyTroond, [@Hpdo Soid Lok Bohdyored’

(1) 66 @ 65 (3) 64 WAt 62

B is the brother of A. § is the sister of B. E is the brother of I D is the daughter of A. Fis
the father of S. Then the uncle of E is

A Gioy At B, B Gy 240 5. D Tafy b E A o1, &7 D.
S S, So|& F. sy B Gia¥y, $9 BE So|d 8 S ard

(1 A \ﬂf B (3) F 4 D

14
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70, H5@6=6landB@ 10=164,then7 @9 =
5@6=61 0008 @ 10=164 soxd, 7@9=

(1) 124 (2y 120 3y 32 %Z’.BO

In a clock, the angie between the hours hand and minutes hand at 5 hour 10 minutes, is
o8 fidobrdost 50, 108, © & fobe dow 8§, Mwaro dues 8 Bolsg sod o

1y 60° v 95 3 120° ) 90°

The number of ways of arranging 4 boys and 3 girls in a row so that tke row begins with a
boy and ends with a girl.

H08 ¥ wradd Adoow, 28 erHES uoéé:d?:geagpm, Dess erendids,
Rl e E¥els 28 Ho§s® w) T @EYEEo ?

(1) 360 (2) 480 (3) 720 W{IMO

Which will be the first leap year after 2096 ?
2096 $omg8 STy Eocsd & LodeyE B ?
(1) 2100 W 2104 (3) 2102 ) 2108

If two circles of diameters 10 cm and 6 cm touch externally, then the distanice between
their centres is

6 0.2, HHBats 10 o.h. gwen e HOAD Dods Hyddwen ardrgorm By Ao
503, ¥ & SoSdue Loy o

(1) l16c¢m (2) 2cm (3y 4cm \JA(Scm

The director came to the office to attend a meeting at 15 minutes past 12 and he came
25 minutes before his steno who in turn was late by 30 minutes to the meeting. At what
time was the meeting supposed to start ?

o SR8 e siard8 0¥ Somreo¥h, Ko. 12-15 8 s*ovz-goo‘.{:vf&§ :ﬁa'gda.
¥ DArRTOE 30 Sdwepo woigor HNG 08 ?g:S‘erf&S $08 w BOEH
25 Jawarer o Hoeh. ¥ SrRte o SHards oo stbed dob ?

(1) 1200 @ 1215 e 1210 (4) 1220
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SECTION -B Marks : 75
Mathematical Ability Srdiy s 75

b SSageds
Questions : 75
L!:f‘é;p; + 75
{i)  Arithmeticat Ability ' (Marks : 35)
2 1 1
76. 8-16°+9%=

(ly 3 V@f @y 242
(Y]
\\a = Afab

[f 92+ =272 then x =
o L= 27l wend, x=

iy 3 (2 4

"\

1t e R thenv: y =

B up e

o, Xy

3} A:s (3) 5.4 \.(4(4:5

For a cylinder of height h and base radius v, the curved surface area is thrice the area of its
base, Thenh:r=
h Qs 1 oemd (&) a)‘*gfﬁgom e 2}*@9% SESo Srego o werd (257)

B7rgtB 3 B40d, hir=
L. m
3

A

2 (2) 3:5 3 2:3 4 5:3

wowd, u doggs’ '% & ok

5
@ 5

16
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82.

If 7% of 800 is equal to 20% of x, then x =
800 &° 7 w0 x & 20 Terd8 Hdrdo eowd, x=

(1) 300 W 280 (3) 240 () 200

If Cand § respectively denote the areas of a circle and a square having the same perimeter,
then

28 S Foddh 0MH 25 Sydo wduk BYe &»é&_ Fregod HEHm
C $o0ats § S 4r %, vy |

(1) C=8 (2) C<S§ \m/c->s ¢y C=nS

Ifx:y=2:3undx+y=10, then what is the valuc of y — x 7

WA

2:3, x+y=10 woud, D) y - x Gy Ik 208 ?
@ 7 ) S w2

ad  bf ] ( i3 ]
3 3 3
If 3 + b+ ¢ =0, then the value ofx[3‘1 bCJ. xhdaie ) A3abet |

Cas Y ( b* Y [ ¢S ]
a+tb+c=0vond, x 3a’be) . |\3ab%c) . [3“b°3 Dead

a o @ v s

Which of the following is the greatest ?
1Bud s 20 Hoge 7

(1) 33333 (2). 33339 (3] 33993 \;af" A

IT A gets 50% morc than B, how much does B get less than A ?
B 508 50% JEn A 208, A 08 B Qo E55 D Toderdy ?

W 5% wle (3) 50% @ 665 %

What is the remainder when 2'3217 is divided by 3 7
23 33 T e Rolinpth HE Ao Jod ?

1 & 2 (3) 0 @) 4

If a+ 3 =4 (mod 2), then the value of ‘a’ can be of the form (n is a positive integer)
n 28 Sardys Yroro¥o. a + 5 = 4 (mod 2) wowd, wpth a GnEy Jawd, &
Srnod soiuob.

() 2n (2) n-2 W -1
17




provi ded by

manabadi

.com

manabadi . co

The smallest three digit number which satisties x=35 (mod 3} is
x=5{mod3) a é\ 2SS °‘“§M‘i. il soBe Do

{1y 104 {2y 103 {3y 102 \jA{ 10t

(4 A2

Tf the ratio of the radii of two spheres is 2 : 3, then the ratio of their volumes is
Both e SO 823 cso,fe_e’, et S MEDsErEe RS
(1 8:9 D) 4:9 v s @) 2:3

The average age of 3 femates is 1§ years and their ages are in the ratio | : 2 : 6. Then what
is the age of the eldest female in vears ?
Swid adde Lovdd éu“.’:(m 15 Soddyoren, a0 éo&ﬁ;\u‘, [:2:6 Dﬁ;%dﬁ‘a
drmyon. sy 0S° sodd%eT £ o..,.é"@: HOHIN ol\.;l'«)ua‘e&‘ uvex 7

30 2) 20 (3) 25 @ a4y

A job can be completed in 12 days by one man or two women, Tn how many days can one
man and one woman um‘lpl ete the same job ?

VLN

2 ng)c’om(.;) B agt Haw w8 LD 12 Ferod® Hro S50, o8 @&J}JC&J 20 0%s

a8 &9 s AT A 5"23=u5” gro 387
o

(1) 4 @ 6 3) 9 w8

& 5 -1
Ifx:3+2\f6,then—r— =
X

|
ioge iy S Vias
x=3+ 26 vand, sdyd il

(1 2 vl 12 (3) 3 @ 0

An amount given for compound intercst becomes 3 times itself in 3 years. In how many
vears will that amount be 9 timies itself ?

Fod iy H(8 é/i"‘ 3 DoddyTr oSt 3 B widod. o) SokdTros® ¥ R
9 Sdn @@é)o& 7

ay 9 @6 @ 3 @ 8

18
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2

97, The incomes of A and B are in the ratio 6 : 7. Their savings are in the ratio 8 ; 7. Then what
is the ratio of their expenditure if B saves a one-third of his income ?
AROUl B e esaralr 61 7 485" dodron. a0 Shde SNB ¥: T B &85 wor
o furl Sk Dy TH 0 e 5B dok ?

(1) 4:5 W 5 (3) 5:6 )

IMa:bis1:2; bi¢is3:5, cidisS:dande:disS:6.thena:b:c:d e=
a:b=1:2 b:ic=3:5 c¢:d=5:4%0ve:d =5:6 0wd, vy aibicidie=
(1 3:6:10:8:7 (2} 15:30:50:40:48

G) 123 A 9:18:30: 2420

The fength of the diagonal of a square, whose area is equal 10 the aren of a recrangle of
leagth 81 m and breadth 50 m, ts ’

a8 BHOBe Fwogo, 81 . d oo 50 . Bdesy KO &Y wddBo
ST OOE VS0, el @ BSHSHo 580 iy

a

(1} 45m \}2( 90 m (3) 4n2m (4) 452 m

A works 3 times as fast as B. If B completes a work in 60 days, then in how many days can
A and B together complete the same work ?

B £08 surch Ol Ftorm A SIS, B o 320 60 S’ 4rg IE, A D0k B
agde 8O0 0T & ST M Berost rg T 7

(12 w2 15 (3) 18 @ 20

- The maximum number of boxes. each of length 2 m, breadth 4 m and heigat 5 i that can
be placed in a box of tength 20 m, breadth [0 m and height 5 m, is

EU&~@é@,10&.3&&3,5&,%@ﬁ@ﬁéaébgéﬁzﬁ.ﬁ%@,45m3éa@,
5 3. Q& HONG BFe HIZOM a0l oo

(1) 30 (2) 40 3 20 o s

Twa cubes cach of the edges 20 em are joined to form a single cuboid. Then the surface
area of the new cuboid so formed is

2858 20 0.2 w0k FORS Dok udkmets, ol &g dom trerodidnm
ST, ot B Lor8h HF Ldo LTV

w4000 sq.en. 2) 6000 sq.em.

(3} 3400 sg.cm, {4; 6400 sg.cm
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. Ifx, y. and £ are three integers such thatx + y = 16, y + z=20 and z + x = 22, then xyz =

X+y=16,y+7=20%00h z+x=22 wabghis 1, y, z @ Dk Jroros D, olyd
4
2 981 (3) 900 N7 I

Two taps A and B can fill & tank in {2 and 18 minutes each respec:ively. Both are kept
open for 2 minutes and then the tap A is closed, In how many more minutes will the tank
be filled ?

A 0o B Teraven D& A6 12 H0a 18 Stdres® S8 2.4 FEI ToT Howy.
Jodk E'yrovodn 2 Jdwdrw Sy dodd So7gd A oS 5. &P Jchardd,
FOEL i)y Qdwares Do ?

(ty 15 \}Z{ 13 3) 18 4y 16

In an examination, A got 10% marks less than B and B got 10% marks less than C.TH A got
810 marks, then how many marks did C get 7

2.8 H05E" B 508 A 8 38 vdo S&d Srinw dorraw, B 3 C 08 20 wdc
S8 B ety e STyon. A 8 810 Srdp e B, € 8 Oy drdiy o damyon ?

() 900 2) 970 3) 920 W 1000

e
(1) f5-43 @ N7-+5
VAR E @ T-2[5 +43

107. A sum of Rs. 410 is distributed among 50 students in a class. I each boy gets Rs. ¢ and
cach girl gets Rs. 6.50, then the number of boys in the class is

410 Srdrabo al S568 &0 50 od darghe Hoddo udhcd. B8 ek
F)6 drarones, (B8 wrOE Er. 6,50 FodE, v SIS E°T wrend dopg

(17 V@f 34 @) 16 (4) 25

. The number of divisors of 1800, other than the number itself is
& Dongiy LoD, 1800 GnYy wredine Jopg

(1) 34 W 3 3) 36

20
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109. If a reguiar polygon has 15 sides, then the number of diagonals that can he drawn is

8 |50 adrohe 15 ghar e $5A 0B, arlS® Aok KERS Edwe Bogg

() 60 @ 75 3 3 wi %0
110. if the square of a prime p > 5 is divided by 12, then the remainder i always

] @6&5 [ Gomg p Clogy d8o & 12 8 A, £~ Ao SOy

3 v 1 @)y 7 @ n

(i) Algebraical and Geometrical Ability {(Marks : 30)

111, If A B, C are three sets thenA - (BN Q) =
&&Cwéw@§&&mmiA~mﬁCh

vl A-ByLA-0) (2) (A-B}n(A-C)”
(3} (AuB)-C (4} (Ar‘\B)—C

112. Ian ={me N/misa multiple of n), where n & N, then Bs By =
RENS, B ={me N/me3dn S8y, edo) woud, B, " Bg=

(1) B, 2) B, (3 B, V‘dﬁ/ By

113, Haset A has 4 elements, then the number of relations from A to A is
28 2dpé A &ty Drestecod, A &cd A % He Loanogre éoa;eg =

W7 216 2) 2% (3) 28 @) 4
114, If asct A has 6 elements, then the number of subsers of A containing at least 3 efements is
28 58 A & 6 drosrenod, €950 3 oz 68 ddo doag
{1y 63 (2) 57 Vel 42 4y 40
115. If p, q are two statements, then 1 (p — q} is equivalent to
P q e Both [Ehdround | (p-q) & Hoeg (BHSso
O Celva @ Cpag 3 puy(ly W (g

116. If aset A has 5 elements, then the number of tnjections from A to A is
WS DB A & 5 roswod, A Lod A © Ko us Bhatre dogg

120 2 5 3) 0 @) 25
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. Il R denotes the set of all real numbers and if a function f : R — R is defined by
f{x) =x? ¥ x € R, then f is

vl THH Dogrg HVE wowtHd, o8 Pdato f 1 R>F 2, #8xeR 8§,
flx)=x%rm Dl’ﬁsﬁf‘;, 2] Léfﬂotf)o

a one-one function,

2.5 @355 Léfnq‘f:?‘.‘.»,

an onto fanction.

2 o3 |Haohs.

a function but neither one-one nor onto.

Bk, Ho|idw Botr 570 [Habokid,

a bijection.
2.8 Qgties Dok,

118. The foot of the perpendicular from the point (3, - 4) to y-axis is
(3. - 4) Dotod) ®od y-ugas AdS vounardo

(0 3.0 W ©0.-4 @) (3,4 @ (-4, 0)

119. The equation of the straight line passing through the points (2, =3). (3, 5} is
(2, -3}, (3. 5) Dothdyo Home DhH HEETyr Hn¥¥mo

T sx-y=19 (2) bx+y=9
{3) x+3y=10 {4) 5x-3y=0

120. A line drawn through A(S, 3) makes an angle of 45° with the x-axis at B. Then the distance
between the points A and B is

A (3. 3) Dodsd hoae TIED 2.8 8¢ Op, x-uFod Doy B o 45° Femly 2830,
Dodogpen A, B o D Erdo

/
(1) 43 2} 2 (3) /3 vl 2

121. cor 15°=
W 2+i @ 243 @ -2 4 3-42

22
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122, If0 <8 <§ and cot © + cosec © = 3, then cos 6 =

0<8<%.cot8+cosece=3so.n&cosﬂ:
2 3 4
M 3 @ 3 wf5

cos 5% —sin 15° g
" ¢os 15° +sin 15°

y L 2) 243 3) 3

. 8in 945° =

w5 3) N,%

- A tower on a horizontal ground is of height 100 m and subtends an angle 30° at a point A
on the ground. Then the distance of A from the foot of the tower is

582 ThrodUTI Sep W) 100 . % Ao 28 Sowo Fo B ¥ Dot A &2
30° o JFch. Do A Dod Howriio K& Ko &rdo

(1) I-%)m (2) 100m

{4 1002+y3)m

(3) —14

127. Let A bea 3 x 3 matrix and det A = 5, then det SA =
A 283 x3%m8Y, det A =5 wowd, det 5A =

w5 @ 5 (3 5

23
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¢ 149
128. The term independent of x in the binomial expansion of | Pl ;5| is
\ )

\9
(0] @y, o5 Dysee® 80 580
¢l =

(1) 84 @) 56 w0 4 9

; ; s : (1 6 : ;
. The 4™ term in the binomial expansion ofl ot x2-2% is 160. Then th: vatue of x is
12 /

‘1 N6 5 y
;2+x2 (27 Gray B ABed™ 4 S DHiSo 160, wond x Gy, Jesd
(1 8 @ -8 3 -1 v

A polynomial p(x) leaves remainders — 1 and 3 when divided by x — 3 and x + 1
respectively. Then the remainder, when the polynomial p(x) is divided by P22 -3

&8 28000 p(x) H x - 3 WO x + 1 ©F okl HT) Tares HEOT -1 Redak: 2,
@& plx) & ¥ - 2x -3 T grfy B’Dﬁi} Thk.

(1) x+1 2y 1-x 3) 2+x \&4{2—.‘(

. If the 3™ and 7* terms of an arithmetic progression are 8 and 20 respectively then the 5"

teem in that progression is
2% €0k FAE® 3D Hdak 7H dorer HES™ 8 Lok 20 sond, w FAS" 5% DSk

(1) 10 2) 12 v 14 ) 16

. The Geometric mean of 4 and x is 10, then x is equal to
4 D0al x o s dgo 10 vowd, x =

2 s & 25
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133, The derivative of sin x with rospect to tan x is
a x Spgks sin v S8y, edso

(Il cosx (2) cos?x

M cos? x (4) costx

N, ) N dy
136, 12 =2y +\2y +\2y + .. on, then S =
.r:\/23-;\|€2}:+ 2y + ... = woxd, gf:

Iy x+1 (2) x-1

43 w

137, 1an 22° + 1an 23° + tan 22° - tan 23° =
o () 2tan 22° tan 23°
3 0 (4) tni®

138. ~{{~p) v q)is equivalent (o
~({~p} v 8 :-’.’we;s (HSHe
M pvi~g) 2} (~pivg
p~i~q) @) ~pay
139, If the internal angle between any two consceutive sides of a regular polygon with n sides is
120° thenn =
0 Zleral) a8 (Shadn 2HRdt (€ Doty gbere QEigie wodd e Swdo 120°
—
goxd, n=

{1 4 {2)

W oo ) g

140. If the perimeter of a circle js equal to the length of the side of 4 square of area 64 m2, then
the arca of the circle is

w8 %@ 008, 64 m? BToparr Ko S8R0 S, Nerl8 DErd0 wond, o Hre
& v e S < E, > ? [T

16
N

8

n

4 m?
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060C-02
Statistical Ahility {Marks : 1)
Tt 1o is the agthmetic mean of X., Yo, .oy X, then the arithmetic mean ol ax + Db, &y, + o e

ay, = b.is

XXy o X, 052 BOE Roigioo m SODE, axp+ b, axy < b ay, + b, 0% w0 PR

11 m (2) m+b

\f_{ am+ b (4) am

When two dice are rolled, what is the probability (hat the sum of the nurnbers appeared on
themis 117

Tod arwion D05 E D 5 G3t § ce;‘i‘gé dod ?
48]

)}

The variance of the distribution {1, 3, 37 i

11,35} &3 Serameld I8

i 8

2

AV

. “The arithmetic mean of the first 10 positive integers is

e 10 & Ergosro Bol dggno
(ly 3 2 6

i3 54 Jﬂ'ss

. The probability of drawing a 1'cd card from a deck of playing cards, is

2.8 0E 8L ol S Boik BE EAWES &0 Hoe e

2 -
1) 13 ()

(3 % v

26
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146. The median of the first twenty positive integers ig
el 20 &5 Yrorowe Rdgaso

(110 W 105

) 95

- The standard deviation of x + [, x + Z,x+3,x+8 v+ 7Tand x + Y, where 1 is not equal o
zero, is

x 2.8 Er3edd Dopr @SB v+ 1L v 42, Y+3x+8, c+7.x+9 Romgud Kk
= o 2N 3

RSeBo

{ i } ﬁ\v,'l

¥

3 N\

- Five coing are wssed at a time. Then the probability of obtaining al least cne tail is
5 TR a8T8 IbY Bobihek, €580 of TE: BT Dogedes
3 i
@ 5

@y =

- 1T a4 digit number is formed at random using the digits 1, 3. 5, 7, 9 withowt repetition, then

the probubility that it is divisible by 5 is
1 3 59 wosod Phodydo shom SBGEROD X 4 FOBO Do

74

3
Q{;n(.jxagéom SO, u K:og,:g 5 8 arRodudirds Sowrded
) ,

= (21

150, The AM. of 5 observations is 4.4 and the variance is 8.24. If 3 of the obsetvations are L., 2,
and 6, then the other two are

5 H0Fehe wo¥ @gio 44, S8 B2, wothd® Sirdh HoF ol 1. 2 biek )

o8, BALE Dok 0%
Vef 4.9

4y 2.11

27
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SECTION-C
Communication Ability
Sdrord é”éaggé
Questions : 50 Marks : 50
PART -1
Choose the correct meaning, for the word :
151. Circumspect
\ﬁ'f Cautious "Round about
(3) Full of respect To inspect

182. Mandatory
(1) Man-made Compulsory
{3) Optional Coercive

. Industrious
(1)  V¥igilant Diligent
(3) Alert Vibrant

. Reconnoitre
(1}  Conciliale Adjust
{3) Restore Explore

155, Mediate
’ Intervene Coniproniise

(3) Negotiate Persuade

156. Householder

T Tenant Policy holder
{3) Husband ( Seller of the house

Fill in the blank choosing the correct word :

157. The editorial the way that journalism has lately been failing in its mission.
(I} expresses (2} encounters
(3} degrades M deplores

28
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158. The old palace was dingy and but it was still serene.
{1} pracious {2}  beautiful
(3)  flourishing W dilapidated

159. To pass money in order to disguise its origin from tax inspectars is known as money

(1) cvasion (2) avoidance
‘)é_f laundering {(4) whitening

160, One has to work o get a first class,

o bard ) hardly

(3)  most {4} mosthy

PART ~ 2
Choosc the correct answer

161. In data communication, bit per second is called ¥
(1} Bites (2} Pixels
W Baud (4) Bandwidth

162. A scanner transforms data on paper into
\(f}' the digital form (2} pgraphics
21 commands (4) pictures

163. LCI) monitor means
{1} Liquid Compressed Display Monitor.
(2)  Liquid Compuled Display Monitor,
{3)  Liquid Controt Display Monitar.
w Liquid Crystal Display Monitor.

164. A binary check dipitiscalleda _____ bit.
{1y trail (2) rtracer

W parity {4) control

165, Cache js
(1Y atype of browser.
¥ fast memory used for temporary storage.
(31 atypeof virus.
41 aspecial computer programme.
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166. A celebrity chosen to promote a product is called a
Brand ambassador. (2) Brand manager.
{3) Brand sponsor. {(4) Brand agent.

167. A direct advance made in lumpsam against some security is called a/an
loan. (2) cash credit.
{3) overdraft. (4) discounting of a bill.

168. Capital spending is
{1) the name for all the property, equipment and investment owned by a company.
(2) the total amount of sales in a year,
{3) how you are charged for borrowing money.
a type of investment made by a company when buying equipmen:.

169. A consigninent is
(1) what we buy under the barter system.
(2) what one sells as his primary product.
the quantum of materials defivered.
(4) what one buys in a month.

170, The current Indian law governing foreign exchange transaction is knovn as
(1) FERA. el FEMA.
(3} The Indian Contract Act. (4) ThelT Act.

PART -3

Choose the correct answer :

171. A. Would you mind withdrawing from the contest ?
B. Ido.
B’s answer indicates that
(1) he will withdraw from the contest.
\j?( he will not withdraw from the contest.
{3) he may withdraw from the contest.
(4)  he is sure to withdraw from the contest.

172, “Had I saved enough money I could have bought a car by now.” The speaker means that
(1) e saved enough money but could not buy a car.
W fie did not save enough nioney and so he could not buy a car.
(3} he saved enough money and so he could not buy a car.
(4) he did not save money but still he managed to buy a car.

kL
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173, ‘To ride one’s hobby horse’ means
to talk about one’s favourite subject.
(2) togoforaride.
{3} tobeton ahorse,
(4) to be interested in horses.

174. “Throw the baby with bath water’ implies
discarding something useful.
{2)  carelessly handling the baby while bathing.
(3) losing sight of inessentials.
(4)  wasting useful resources.

“How do youdo ?"is a
(1) guestion, \ﬂf greeting,

{3} command, (4) request.

» The police could crack the mystery finally because one of the gang blew the whistie on (he
rabbery, The underlined words imply

) tocall attention to (2) 10 make loud noise
(31 to blow the whistle loudly (4) torender help

177, She ulways decides things at the eleventh hour. The underlined wards mean
{1} close to midnight. (2} after eleven hours.
at the Jast moment. {4) after a short time.

Fill in the blank with the appropriate phrase/verb/preposition :

178, lndia has made rapid progress the dawn of Independence.
{1) for \,{»?( since
(3} in 4y from

179. They rowed the boat the lake.
{1y for (2)
? aCtoss {4)

180. Writc ink, before you type it.
{13 with 2)
{3} from
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181. Most politicians are . I don’t trust any of them.
W on the move (2)  on the muke
(3} making 4 move (4) being on the mave

182. The strike by the contract teachers was _, _at the last minute.
called off {2y called out
{3) called at (4) called on

183. Ravi __ill Iast Monday.
(1) contacted contracted
&y fell went

. Does Leela smoke 7 Yes, she

(1} smoke V?."r does

(3) inhales (4) lights up

185. Her first son to her expectations.

\.(Y lived up (2y gotup

{3 gavein (4) succumbed

PART -4

Read the following passage and answer questions from 186 w 190 :

An interview is a widely used device for assessing a person’s ability ¢t suitability to hold a
job. A person's lifc cun be seriously altered by his or her suceess in an interview. An
interview is as important for the organization or institution as it car be for the candidate
who takes it.

Surveys conducted on the elficacy of an interview as a mode of selection, emerged with
anflastering results. The findings praved to be adverse. Tnterviews are still held for reasons
which might still be described as purely pragmatic. They have proved to be the only
available source, being able to be arranged and carried out, easily.

In spite of this, no organization can place its stakes, totally on the performance of
candidates in an interview, Hence they resort to such additional devices as may he required
from time (o ume. On the other hand, no candidate taking the interview cap afford to be
complacent. He has to be equipped Lo a certain extent at least, of the requirements of the
place where he has to serve.

. An interview is jmportant
(1) only for the recruiting agency
(2) only for the candidate
{3) only for the public outside
w both for the candidate and the recruiting agency

32
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187. Surveys on interviews emerged with
(1) flattering results
W2 misgivings on them as a mode of selection
(3) reasonable results
41 glowing tributes

188. Tnterviews are still held for reasons purely
{1y impractical (2% ideal
\;3( practicai {4) theoretical

189, An organisation __ to depend upon interviews for selection of candidases without any
reservations. Choose the right answer to fill in the blank.

(1) can afford (2) can totally give themselves
M' cannot alford (4) simply loves

190. A candidate for any interview
wa * must be equipped with a reasonable knowledge of the requirements of the recruitin g
agency.
(2] can pay scant regard to the requircments of a recruiting agency.
(3)  nwst be slavishly attuned to the requirements of the recruiting agency.
{4)  must dictate his own terms to a recriting agency.

Read the following passage and answer the questions 191 — 195 ;

The most important preliminary to the task of arranging one's life so that one may
live fully and comfortably within one’s daily budget of twenty four hours is the cabm
realisation of the extreme difficulty of the task, of the sacrifices and the cndless effort
which it demands. [ cannot too strongly insist.on this.

It you imagine that you will be able to achieve your ideal by ingeniously planning
out a time-table with a pen on a piece of paper, you had better give up hope at ance.

If you are not prepared for discouragements and disiilusions, if you will not he
content with-a small result for a big effort, then do not begin. Lie down again and resume
the uncasy doze. which you will call your existence. It is very sad; is it not very depressing
and sober ? And yet 1 think 1t is rather fine too, this necessity for the terse bracing of the
will before anything worth doing can be done. I rather Iike it mysell’. T feel it to be the chicf
thing that diffcrentiates me from the cat by the fircside.

191, 1f one has to live one’s life fully,
onc has to realize that it involves ceaseless effort
{2} ooe has to realize that it demands a daily budget
{3} one has 10 be calm
{4} ooe has to overcame difficultics
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192, What is the important thing that dilTerentiates one from the cat by the fireside ?
{11 The human body
(2)  The soul
{3)  Strength of character
w‘j” The need tor the bracing of the will

193, 1f vou think you can plan out a time table with a pen on a piece of paper you had betrer.

(1} begin at once. (2} notdoso.
\)’ﬁ’ give up hope at once. (4}  stop the idea.

E94. If you will not be contenl with small result for a big effort, if you do not exgect little from
much labour, if you are a worker or [ahour shirker, then you had bette-,
(17 be happy with your luck.
%) not begin,
(3)  gve il asecond thought,

(3] leave it all to someone else.

What is the uncasy *doze’ referred to in the passage 7
(1; lIdieness

{2y Lazmess

'{3) Ealing, deinking and making merry

\‘W}f (ne’s existence

Read the following passage and answer the questions 196 —~ 240 :

Nehru's dectsion o opt for the mixed ceonomy has almost universally been
misunderstood and has been scen as the result of forcign influcnee - Fabian socialism and
Soviet centralized planning. But Nehru was always searching in every facet of his life and
activity for the middle path which Lord Buddha had commended. His policy of Non-
alignment with its accent on negotiations and mediation was one cxpression of such
temperament and so also his concept of secularism which did not dery the li‘e of the spirit
and all that it implics. His preference for a mixed economy falls in toe same category. e
genuinely believed that this path would help promote cconemic growth and social peace af
the same time. Nao one can possibly claim that his total approach — mixed economy.,
secularism, demecracy and non-alignment has not been productive of resulis. Tt s a tnbute
to Nehru's foresight that unlike most Third World Countries, we wre still a functioning
dernocracy and a reasonably human society where the rulers feel oblized ar keast to profess
high standards of public morality, 1 am cmphasizing the essentially Indian origin of the
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concept of a mixed economy in order to make the point that we can deviate from the search
for a middle path for long only at the cost of grave violence o oursclves, The forms may
differ. But the search for a middle path between capitalism and socialism has to po on. A
Latin American (ype of economy and society is inconceivable in India.

196. The policy of mixed economy as put forward by Nehru was misunderstood because
Vﬁ( it was considered to be a foreign one.
{2) he was a man of mixed feelings.
(3) his policies were dictatorial.
{4) it was inspired by the Buddha.

. Nehru advocated mixed economy because he believed that
(1) it would make India a superpower.
{2) it would make him famous.

(3) it would make the country popular.

\.(4( it would promote growth and social equality simultancously.

198. The credibility of Nehru's approach can be seen in the fact that
(1} the country has progressed.
{2}  the country has acquired military strengtl.
the country is still a functioning democracy.

(4) the country has made rapid strides in education and I'T.

199. The basis of the mixed economy is
(1} Fabian socialism.
(2} the Soviet niode of planning.
\,(6{ the path praised by the Buddha,

(4) fanaticism.

200. Nehrn was incessantly searching for an economic model that
{1} followed the beaten track.
\,(!ﬂ suited the Indian temper.
(3) entailed grave violence to oursclves.

(4)  was unique and original.




